《大学英语B》复习题十八
 一、交际英语
1、- Why didn't you come to my birthday party yesterday?-  ________

  A：Excuse me, my friend sent me a flower.

  B：Fine, I never go to birthday parties.

  C：Ha…ha, I like swimming.

  D：Sorry, but my wife had a car accident.
答案： D
2、- Unbelievable! I have failed the driving test again!  - _______ This is not the end of the world.

  A：Good luck.

  B：Cheer up.

  C：Go ahead.


  D：No problem.
答案： B
3、- Hey, Tom, what's up?- __________

  A：Yes, definitely!


  B： Oh, not much.

  C：What is happening in your life?

  D：You are lucky.
答案： B
4、- David injured his leg playing football yesterday. - Really? _______

  A：Who did that?

  B：What's wrong with him?

  C：How did that happen?

  D：Why was he so careless?
答案： C
5、-- How do you do? Glad to meet you.-- _________

  A：Fine. How are you?

  B：How do you do? Glad to meet you, too.

  C：How are you? Thank you!

  D：Nice. How are you?
答案： B

二、阅读理解
1、It has been reported that in colleges across the United States, the daytime serial drama known as the soap opera has suddenly become "in". Between the hours of 11 a.m. and 4:30 pm, college television lounges are filled with soap opera fans who can't wait to see the next episode in the lives of their favorite characters.

Actually, soaps are more than a college favorite; they're a youth favorite. When school is out, high-school students are in front of their TV sets. One young working woman admitted that she turned down a higher paying job rather than give up watching her favorite serials. During the 1960's, it was uncommon for young people to watch soap operas. The mood of the sixties was very different from now. It was a time of seriousness, and talk was about social issues of great importance.

Now, seriousness has been replaced by fun. Young people want to be happy. It may seem strange that they should turn to soap opera, which is known for showing trouble in people's lives. But soap opera is enjoyment. Young people can identify with the soap opera character, who, like the college-age viewer, is looking for happy love, and probably not finding it. And soap opera gives young people a chance to feel close to people without having to bear any responsibility for their problems.

(1)、What is soap opera?

  A：Plays based on science fiction stories.

  B：Plays based on non-fiction stories.

  C：The daytime serial dramas on TV.

  D：Popular documentary films on TV.
答案： C
(2)、What can be the best title of the passage?

  A：College student viewers.

  B：Favorite TV serials.

  C：Soap opera fans.

  D：College-age viewers.
答案： C
(3)、Which is NOT the reason why the soap opera has suddenly become "in" among American  young people ?

  A：Because the viewers want to be happy and to enjoy themselves.

  B：Because the soap opera makes young people feel close to their people.

  C：Because the viewers can find themselves in the soap opera characters.

  D：Because the young people have to bear the responsibilities for their troubles.
答案： D
(4)、What can we learn from the passage? _________

  A：College students like soap operas more than any other social groups.

  B：Young people of sixties liked soap operas more than people today. 

  C：young viewers have turned themselves from the seriousness of sixties to enjoyment now.

  D：The young as a whole are trying to look for happy love but in vain.
答案： C
(5)、What message does the author want to convey to us? _________

  A：The people's favorites to drama works have been changed for a long time.

  B：The people's favorites to drama works change along with the times.

  C：The people's favorites to drama works is changed by the soap opera.

  D：The people's favorites have changed the drama works.
答案： B
2、    My secret for staying young is simple. Put all attention to the part of your brain and keep it young and growing. Keep your mind awake and you'll stay young all over. These are exciting times. Take an interest in the world around you, and stick to learning at least one new thing every day. No matter how old you are, it's not too late to make your life more interesting. I know a housewife with no knowledge before she made herself into a well-known engineer. I know a retired electrical engineer who has become a highly-paid dress designer. Get over the idea that you are too old to go back to school. I know a man who entered medical college at 70. He got his degree with honours and became a famous doctor. Another man went to law school at 71 and now was an active lawyer. Staying young is easy for those, old or young, who live in the future. You can do it if you care enough to try. Keep your mind awake and active: that's the only way. 

(1)、According to the passage, that people's brain of all ages remains young and growing is____. 

  A：impossible

  B：a scientific fact

  C：a secret

  D：a wrong conclusion 
答案： B
(2)、It is wrong for the old to______.

  A：think himself too old to go back to school

  B：keep his mind awake
  C：try to stay young

  D：lead an active life
答案： A
(3)、The passage says that the man who entered college at 70 _______.

  A：was unthinkable

  B：became tired of his life

  C：wanted to be a highly-paid man

  D：became famous in the medical circle
答案： D
(4)、The only way to keep young is______.

  A：to go back to school

  B：not to consider one's age

  C：to live in the future

  D：to keep one's mind awake and alive
答案： D
(5)、The writer suggests that you should _____learning at least one new thing every day.

  A：take care of

  B：set out

  C：keep on

  D：turn to
答案： C

三、词汇与语法
1、Jane's dress is similar in design ___her sister's.

  A：like 

  B：with 

  C：to 

  D：as
答案： C
2、People at the party worried about him, because no one was aware ____ he had gone.

  A：of where

  B：of the place where

  C：where                                

  D：the place
答案： A
3、The students were all entertained in a Mexican restaurant, at Professor Brian's ______.

  A：money           

  B：pay

  C：expense           

  D：loss
答案： C
4、A sudden noise of a fire-engine made him___to the door.

  A：hurrying          

  B：hurried            

  C：hurry            

  D：to hurry 
答案： C
5、A police officer claimed he had attempted to ____ paying his fare.

  A：avoid            

  B：reject              

  C：refuse            

  D：neglect
答案： A

四、完型填空
1、Climate change is one of the most fundamental challenges ever to confront humanity. Its impacts are already showing and will intensify over time __21__ left unchecked. There is overwhelming scientific evidence, __22__ shown in the Fourth Assessment Report (第四次评估报告的综合报告)of the Intergovernmental Panel on Climate Change (IPCC) 政府间气候变化专门委员会(IPCC), that climate change will threaten __23__ growth and long-term prosperity, as well as the very survival of the most vulnerable populations. IPCC projections indicate that if emissions continue to rise at their current __24__ and are allowed to double from their pre-industrial level, the world will face an average temperature__25__ of around 3°C this century. Serious impacts are associated __26__ this scenario (情景), including sea-level rise, shifts in growing seasons, and an __27__ frequency and intensity of extreme weather events such as storms, floods and droughts. 

The United Nations Climate Change Conference in Copenhagen in December in 2009 offers a __28__ opportunity to step up international action on climate change. A Copenhagen deal is __29__  the global transition into green economic growth, and, most urgently, to help the world, especially the most vulnerable, to adapt to impacts __30__ are now inevitable.
(1)、 
  A：if 

  B：whether

  C：when

  D：which
答案： A
(2)、  
  A：because

  B：as

  C：while

  D：when
答案： B
(3)、  
  A：economics

  B：economical

  C：economy 

  D：economic
答案： D
(4)、  
  A：speed

  B：rate

  C：pace

  D：rhythm 
答案： C
(5)、   
  A：rising 

  B：rise

  C：raise

  D：raising
答案： B
(6)、  
  A：with

  B：to

  C：from

  D：in
答案： A
(7)、   
  A：being increased

  B：increased

  C：increase

  D：increasing
答案： D
(8)、  
  A：history

  B：historical

  C：historic

  D：historically
答案： B
(9)、   
  A：necessary

  B：inevitable

  C：essential 

  D：basic
答案： C
(10)、  
  A：that

  B：of which

  C：who

  D：what
答案： A

五、英译汉
(1)、Various substances differ widely in their magnetic（磁性的） characteristics. 

(2)、All that glitters is not gold.

(3)、John and his brother differ in personality even if their differences in age are not significant.
六、写作
(1)、My Favorite TV Program 
1. 你最喜欢什么电视节目？

2. 你为何喜欢这种电视节目？ 

